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Section A
Questions 1 to 10 cany 1 mark each. Quest:ons 11 to 15 carry 2 marks each.
For each question, four options are. gwen ‘One of them is the correct answer.

Make your chmce and shade yotr answer ('I 2 3 or 4) on the Optical Answer Sheat.
{20 marks)

1.. Round off 543 080 to the nearqét-ﬁbusand.

(1} 560000
(2) 540000
(3) 543000
(4) 544000

2. EScpress 2030 em in metres.

Y 2BM e
(2)  2.03m e

3) 203m

@) 208m

3. In the nurﬁbér line below, what is a possible value of X as indicated by the
_ airow?

1.7_ Lt E . . 18 ., }‘:.-.::. ' e ‘?ig- T L S
). 185
) 18.20
(3 18.35
(4) 18,50



4. The value of 1.11x 80 is

(1) 8.88
(2) 88.8
(3) 888

(4) 8880

5. Express 2% as a decimal and round it off to 1 decima] place.

(1) 23
2) 24
@) 27
4) 2.8

8. There were 56 beads in a box. 7 of them were red beads while the rest of them
were green beads. What is the ratio of red beads to green beads to the total

number of beads in simplest form?

1 1:7:8 :
@2 1:7:98. - . - 1
(3 7 g

4 87

7. Marie had $100. She spent $15 on some books and $25 on clothes. What
percentage of her money did she have ieft?

1) 10%

2)  40%
3)  80%
(4 90%



8.

Which of the following cannot be the height of iangle PRS? i

P R

.-L.:Q

0 e Nl i 0 e -

S
) PR
(& SR
3) PS
@) as

What is 30 minutes expressed asa percentags of 2 hours?

(1} 15%
@ 2% B o | ]
(3) 60%
@) 90% :

10.

.. Which direction will he be facing In the end?_

Ahmad is facing West now. Hoe makes a -3-- turn in the clockwise direction. Inf

(1)  North
(2} South
(3) North-East
(4) South-East



11.

12

The figure below Is made up of two identical squares ABEF and BCDE. Given
that AB = 10 cm, what is the area of all the shaded parls?

— 10om —> .
F e 0
() 25em*
{2) 50 em?
) 75cm®
(4) 100 cm?

% of a jug was filled with orange juice. The orange juice from the jug was then

poured info an emply cup and g of the cup was filled. What was the ratio of -

the capacity of the jug o the capacity of the cup?

@ 5:7
@ 7:6
3) ;7:15

4 15:7

an



13, The figure is made up of 1-cm cubes.

How many more cubes must bs added to the figure to get a volume of 14 cm®?

(1)
{2)
(3)
4)

QX ~N B o



14, A rectangular piece of paper Is folded to form the shape below.

15.

I~ 4om —M

A

What is the area of the rectangular piece of paper before it was folded?

(1) 24cm®
(2). 40cm?
(3) 48cm?
4) Bdom?

Mrs Tan baked some cookias She gave 10 of them to her neighbour and

kept -g- of the remmmng ‘¢ookies in a jar. She found that she had 25 cookies

left. Express the number of oook!es kept in the } jar as a fraction of the t@tal

" number of cookiés.
4
a 7
.4 :
2 PE
. 5
3) 7
7
4) 1



" Section B
Questions 16 to 25 cany Tmark each. Write your answer in the spaces provided, For

questions which require units, give your answers in the units stated. {10 marks)

.
e,

16,  Find the remalnder of 725 + 97

Ans:
17, Express ‘—;-kg in ’g'ram's.
Ans: . g
18.  How many quarters are there in 5% ?
) | Ans:
" 18, What is the'missinig number iri the box?
50%26=| 7 [ %13
Ans: _




20. What is the smallest whole: number that doss not leave a remainder when
divided by 8 and 87

Ans:

21, Extend -tLe tessellation below by drawing 2 more unit shapes,

22. Whatls the m:ssmg frac,tforr in the box berow? Give youranswer in the
almphast form

— +10

il
)

Ans:




23,

24,

‘25,

There are 12:red balloons and twice as many green-balloons.in a party.
If 10 green balloons are burst, find the ratio of the remaining. number. of
green balloons to that of red. bailoons.. Give your answer in the simplest

form,

Fill In the thres boxes below with the numbers 3.4 and B, to give the largest .
possible answer to the expression. {Each number can only be used onca.)

( |t ) X | = Largest pc;ssible answer

The ﬁgure below’ ls made up of four idenbcal squares, What fs the

.- parimeter of the flgure? - -.

‘. - " . P - .-..‘_- - ¢
: ]
D"-'h-—-u-——i
> ! Em
1




Questions 26 to 30 cary 2 matks each, Show youilr warking cleérly and write your
answers in'the spaces provided. For.questions Which require units, give your
answers in the units stated. {10 marks) ,

28, A container with a square base of side 20 cm, has a height of 24 cm. It is
filled with water to a height of 19 em. How.much more water must be

added to fill the container completely?

N

2t cm

27. The diagram shows a rectangle ABCD, which Is not drawn to scale.

Find-the value of Za + £b, et
A N3 B
N POy
. Qo b &
- ples)280 c

10

Do notwy
in this sp:




28 In Claaa 5M 2 ofthe number of boys is equal to -:— of lhe number of glrls

29'

_in class. Fmd the.ratio of the total number of glﬂs to ihe tota! number of
boys ln the class

Ans:

Mrs Bala placed some beans In a container. 24% of the beane are red,
28% of the beans are green and' the rest are black, If there are 15 more
black beans than green beans, hcw many beans are there in the

-container altogether?

Ans;
11 '

Donot wr

J inthis spe




30. A storybook bagins from page 1 to page 33. How many fimes does the !}omniotwme
| in this spact
digit *2' appear on alf the page numbers?

Ans.

END OF PAPER 1
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,Pagar 2

Qiigstions 1 to 5.catry 2 marks each‘ Show your working ¢learly and wﬂte your
answers in the spaces provided. For questions which require units, grve your
answers in the umts stated (1 0 madcs)

1, What fraction of the figure below is shaded? Give your answer in the
simplest form.

Ans: .

2. Guo Liang pald $58 for some papayas. How many papayas did he buy?

21or $7

/e 7
papayas

S "Ans;

=3, A bibs has 4 base area of 64'-m?. Find its volume. -

Ans: m?

Do not writ
in this'spao




4. - Mrs Toh had some eggs. She bought another 87 eggs and then b&}@wﬂt&
distributed’ &l the &ggs equally onto’ 9 tiays. In-the end,. there were 11 |_ 10 this space
0ggs on aach tray How r many eggs had Mrs Toh at first?

Ans:

5. MeiLing has the. same number of 202 coins and 50¢ coins in her purse.

The total value of all her coins is S? How many coins does Mei Ling have
atto;;ether?




For questions 6 to 18, show your working clearly and write your answers in the

spaces provided. The number of marks available is. shown.in brackets [ ] at, the

end of each question or part—quesﬁon. (60 marks)

8.  Muthu’s heightis % of Catol's halght. If Carols helghtis 132 om, what is
Muthu's height?

Ans: - [3]

7. B yepresents a whole number -} of B is lesser than twice of B by 42.

What is the value of B?

N _ . Ans: 3]

Do not write

in this spac

Do not wiit

In this spat



8. 'Tho diagram Baiw, Rot driwn 1o cals, sHows a sqiara garden.

Phom - 3e " C 12

B80¢em 80 ¢yn

—t—

A gardenerplanﬁc_l 12 sunflower seeds along one tength of the garden.
Each seed is 80 cm apart, Find the petimetor of the garden,

Ans: o {3}




10.

Jolens bou'ht some w.'entscal books and identical pens Each book cost
thres ﬂmes as mueh as a pen She spenl% of her money on the pens

and the remaining money on 2 books. How many pens did .!orene buy

altopether?

At a childcare centre, each child's body temperature was taken and

recorded in the table below.

Ans:

Body temperature (°C)

38 | 37

38

Number of children

12

(a) How many children had a femperature of more than 36°C?
(b) 5 children were sent home due fo fever, What fraction of all the
“chifldren remained in the-centre? Give your answer in the simplest

form.

Ans: {a)

®:-.

_1}

Do pok wr
in this sps

2]




| 13.  Yannie poured some ozl into a tank ocntammg some water As a result Do “:}N wril
2 -f inthis spa

the ofl made up 24% of tha mnxture ki there were 19 litres of water what _ ‘

was the total volume of I‘rqutd in the tank in thie end? ' o

Ans: . {3}




12, The graph below shows the number of stickers swned by 5 friends, .Pﬂﬂ:'f?t wite
| " n this spact

20
e i

e -

Number of stickers
=3

“Ban : -chaﬂes Dave Eddie

(2) Whet Is the total number of stickers ownéd by the 5 friends?
(b) What percentage of all the stickers are owned by Eddie?
(Give your answer to the.nearast whole number.)

Ans: (a) . [2)y
b _ _ 2]




18,

The following figiires are made up of black and wiite dots.

o 000 00000
08O 09680 0CO8ePe0
o & 4. ©O000

Pattern 1 Pattem 2 .  Paftem3

(a) Study the pattem above careﬂslty;and fill in (i) and (i} in the table below.

(2l
Pétt_em Number of white dots
number '
7 8
3 5 A2
B ® R [

(b) In a certain pattem number, the difference betwsen the number of
white dots and the nurmber of blauk dols is 19. Which pattern number
is lt?

Apns: _ [2]

Do not write
in this spac




14.  Sue made some cupcakes o give 1o soms cousins. | Donotwr
1f she gave 8 cupcakes to each cousiti, she would tiave 4 cupcakes left, - | Ithisspa
If she gave 9 cupcakes to each cousin, she would need-11 more
cupcakes,

K-y

(@) How many cousins did Sue have?
(b) How many cuptakes did Sue make? -

Ans: {(g) X f2)
(b) ]




15 +Mr Siva bought a p!ate of chwken cutlet wnth of h!s monay He spenti Domnot wrila
In this spate
haif of the remaining-monsy on a glass of fryit juica

(a)  What fraction of his money did hé spend on the glass of frult

juice?
(b) i Mr Siva had $5.25 left, how much did he have at first?

Ans: (a) . [2']
(b} [3]

10



16.

Kenny, Liting.and Mihah were. ezch given the same number of funfair

tickets to sell on Saturday: Kenny managed to sell-all his tickets.

The ratlo of the number of funfair tickets:sold that day by Minah to

Liingto Kennywas4:7:8. . :

{a) Given that Minah had 84 tickets left, how many funfalr tickets did
Lifing seli?

(b) What was the total number of funfalr tickets given to the 3 chlldren
to sell?

{21

Ans: (a)
®

131

. Do notwsl

Inthig spa

i1



17.

The figuré below is made up of 3 triarigle overiapping a rectangie. The. - -
" ratio of the shaded part to the unshaded: part-of the triangleis 3 : 8.

The rafio of the shaded part to the unshaded pant of the rectangie is
4141, If the area of trlangle is 484 m? what is the area of the figure?

12

)

Do notwirlte

tinthls space




18. Rsctangle PORS is4nade up of identical 8 cm by 8 em squares. PRis
a straight line.

(a) Find the difference in arca between the shaded and unshaded
parts In triangle PQR. ,

{b) An equal number of shaded and unshaded squares are removefd
from rectangle PQRS. In the end, the ratio of the shaded area to
e tolal remaining area is 2 1 6. Find the total removed area.

Ans, (a)

1

Do stot wiite
in this spac.

(o)

3] ‘L

END OF PAPER 2

13
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Q1 | Q2 Q3 Q4 Q5 Q8 Q7 Q8 Q9 Q10
3 3 3 2 4 1 3 [ 1 2 2
Q11 |Q12] Q13 | Q14 | Q15 ' - -
2 4 2 A 2
Q16.5 Q17.200g Q18.22 5% =57, 5x 4 +2=22

Q19. 100 Q20.243x4x2=24 Q21. SEE PICTURE

Q22. ;159%+10=%xi=i

‘10 16

023.7:62 12x2=24,24-10=14,green:red, 14:12,7:6

Q24.3+4x6 Q25.50m Q26.800cm? =221 -19=2,2 x 20 x20= 800

Q27.45° - .
£a90° — 45 —14=90-— 60'=30; !
2b90—50—-25=90—75=15

15 + 30 =45

1-028.3:4. . ey ,.-._:;_A;..”.,.__‘;:.. el .

15 of boys = %3 of girl

%ofboys=2/3ofgirls

girls : boys .

37 . 4 . o CE e e e, S L. e

Q29.75

24% =Dred

28% => green

48% =>black

48% - 28% = 20% {15 beans) 100% $15x5=175

Get PSJ Private Tutor to Guide you through Exams Now!
Contact www.privatetutor.com.sg



QL %  Q2.16>$56:$7-8,8x2=16

Q3.512m> V64 = 8, 8 x 8x8 =512

Q4. 12
9X11=99 (total no. of eggs in the end )
99 - 87 =12 [ eggs at first)

Q5. 20

20¢+50¢=70¢

$7 + $0.70 = 10 (no. of 20¢ coins)
10 x 2 = 22 ( no. of coins altogether )

06.110cm=2>132 = 6x5=110

Q7.24
42 +7=6(%0ofB)
6 x 4 = 24 (value of B)

(8. 2640cm

12 -1 =11 (intervals)

11 x 60=660 ( one side)
660 x 4 = 2640 ( perimeter )

(Q9.12 pens
14 6 pens
%5 12 pens

i

Q10a.1712+5=17 .
Q10b. %> Total no. of children ( at first )30, after- 925 —= %

Q11. 25 litre
Water276%
76%319lire” "
1% =>»0.25 litre
100%=> 0.25 litre x 100 = 25 litre

Q12a. 48 R
1+5+17+19+6=48

Q12b. 13%
4_68 = % =10.125 = 12.5%
12.5% ~13%

Page 2



Pattern Number of black dots | - Number of white dots
number
1 1 | 4
2 3 }1 X2 ' _ \L-‘t ‘7‘\-
3 5 s Y
6 0 L @ ywe

Q13b. Pattern 9 a
19-3 =16, 16+2=8, 8+1=9

Q14a. 5 cousins > (11+4) =(9-6)=5

'| Q14b.34 D5 x 6 +4=34

5
slea.:-l-s' )
13 X35 =%

Q15b. $16.80
LR $5.25
R>$5.25x2 = $10.50
5> $10.50
153$2.10

.§ 33210x8 = $16.80

Q16a.147
8-4=4
4u>84

T L T I et .

I e I St

7u 921 x7 =147 (no. of tn:kets Lllmg sold]

Q16b. 504
8 units D147 + 21 = 168 (tickets, ngen to one Chlld ).
giventoall® 168x3 =504

Q17.847m?

Area of triangle=> 32 + 12=44 -
484 44 =11

33+12+32=77,77 x 11 = 847

Page 3
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Q18a. 18cm?

Shaded 3:5units’

Unshaded 4 units
' 6x6x¥% =18

Q18b. 360cm?

shaded =»7 units ( whole figure )
unshaded =8 units ( whole figure )
5 units removed for shaded

5x 2 =10 (units)

6 x6 =36

36x10 =360

THE END
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